Maths problem solution
I worked out that the booklet had to be a square number because on the sheet of paper it showed you it was a square and the number could not go into 100. The only number that could be was 14. So the square is a 4×4 square. To start off with I did 100-14=84 then I halved 84 which gave me how many reds I had. I had 42 and I put them on the diagram. I put two six lines in the bottom right corner that where red then I put 3 10 lines that where red. Then I did 30+12=42 so I have all the reds done. Then I did 84÷4=21. I then coloured in 21 black squares. Then I worked out 84÷12=7 which gave me how many blues I needed to put on the diagram. I put those on and worked out there was 3 greens because there was one complete row of green and blue and there’s 7 blues so that means 3 greens. Then I put in the one white and one shortened row of orange. That left me with 5 squares to fill up with yellow.

All together there are 84 discs. 

-  Are orange           -   Are green

42                            28 
5                               1

-  Are yellow            - Are white

84                             84                                                                                       
                                                                         Grey=booklet

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 


Red= red

Green=green

Blue=blue 

Black=black

Orange=orange

                                                                           Yellow=yellow

                                                                           White=white
